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The figures in the margin indicate
Jull marks for the questions.
Answer either in English or in Assamese.
1. Answer the following questions as directed :
1x7=7
o™ SR oeTe fAml e Tew foral ¢
(a) Fisher’s ideal index number is the
geometric mean of Laspeyre’s and

' Paache’s index number.
(State True or False)
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(b) With which component of time series ‘a
strike in a factory’ is associated ?
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Name the control charts which are used
for attributes.
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(d) State the laws of demand and supply.

Sifzwt e e R0 S w4 |

1CEF] is also
Consumer price index r_mmber!

index number.
0 (Fill in the blank)
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(e)
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‘(ﬂ State two sources of vital statistics.
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2x4=8

Answer the following questions :

weTe Al epTiRs U il ¢ ;
(a) What do you mean by demand an
supply of a commodity ?
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(b) Define crude death rate, Why is it called
a probability rate p
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(c) Define time series. State the
mathematical form of it.
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(d) Distinguish between assignable causes
and chance causes in S.0.C.
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Answer any three questions from the
following : 5x3=15
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(@) Explain time reversal test and factor
reversal test of index number.
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(b) What are different components of a time
series ? Explain any one of them.,

2+3=5
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(c)

(d)

(e)

Define equilibrium price. The demand
curve and the supply curve of a
commodity are given by D=19-3p- p°
and S=5p-1. Find the equilibrium
price and the quantity exchanged.
1+2+2=5
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Name different types of fertility rates. In
what sense age-specific fertility rate is
better than general fertility rate ?

o 3 2+3=5
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A plant produces rolls of paper. The
number of defects disclosed by
inspection of 20 rolls are given below :

13, 3, 8, 11, 5, 17, 3, 4, 6, 11,
13, 7, 10, 20,9, 11, 8, 12,9, 20

Using an appropriate control chart,
comment on the state of control of the
product.
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13, 3’ 8, 11’ 5’ 17’ 3’ 4’ 6’ 11:
i 13, 7,10, 20,9, 11, 8,12, 9, 20
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4. Answer either4(a) or 4(b):
4(a) I 4(b) T e foral ¢

(a) Write a note on net reproduction rate.
Show that GRR>NRR. Explain what are _
meant by NRR<,=,>1. 4+3+3=10
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(b) Define index number. Describe simple
aggregate and weighted aggregate
methods of construction of index
number. Mention the formulae obtained

by using different types of weight. State
two limitations of index number. 10
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5. Answer either 5(a) or S(b):
5(a) wsm)awiéﬁy 3

(a) What are different methods of measuring
" trend ? Explain how the least square
method is used in determining straight

line trend. Discuss the merits and
demerits of this method. 2+4+4=10
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(b) What is control chart ? When is a process
said to be under statistical control ?
Explain X and R charts in detail.
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Answer either 6(a) or 6(b):
6(a) 31 6(b) T TeT forat ¢
(@) Write notes on the following: 5x2=10
T AT @o11S (Bt fava ¢
() Engel’s law and Engel’s curve
G I OIF LT I
(ii) Determination of elasticity of
demand by family budget method
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(b) Discuss various problems involved in the
construction of index numbers,
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